
10423 10423.5 10424 10424.5 10425
cyclenum

1.5

2

2.5

3

3.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126

8126.5

8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

0

0.5

1

1.5

2

2.5

3

se
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en
t

segment:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1us
l_

1X
usl_1X:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
l_

4a
Y

usl_4aY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
Y

usl_4eY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
l_

12
X

usl_12X:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126

8126.5

8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
r_

1X
usr_1X:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
r_

4a
Y

usr_4aY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
X

usr_4eX:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
r_

4e
Y

usr_4eY:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1−

0.5−

0

0.5

1

us
r_

12
X

usr_12X:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126

8126.5

8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

15817

15817.5

15818

15818.5

15819

us
l_

co
il1

usl_coil1:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

2219.5

2220

2220.5

2221

2221.5

us
l_

co
il3

usl_coil3:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

4765

4765.5

4766

4766.5

4767

us
l_

co
il4

usl_coil4:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

3172.5−

3172−

3171.5−

3171−

3170.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

3663

3663.2

3663.4

3663.6

3663.8

3664

3664.2

3664.4

3664.6

3664.8

3665

3665.2

us
l_

co
il7

usl_coil7:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126

8126.5

8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

14957−

14956.5−

14956−

14955.5−

14955−

us
r_

co
il1

usr_coil1:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

1918.8−

1918.6−

1918.4−

1918.2−

1918−

1917.8−

1917.6−

1917.4−

1917.2−

1917−

1916.8−

1916.6−

us
r_

co
il3

usr_coil3:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

5028.6

5028.8

5029

5029.2

5029.4

5029.6

5029.8

5030

5030.2

5030.4

5030.6

5030.8

us
r_

co
il4

usr_coil4:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

3123.5−

3123−

3122.5−

3122−

3121.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

34670.2

34670.4

34670.6

34670.8

34671

34671.2

34671.4

34671.6

34671.8

34672

34672.2

34672.4

us
r_

co
il7

usr_coil7:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126

8126.5

8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

117.5−

117−

116.5−

116−

115.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

15

15.5

16

16.5

17

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

240

240.5

241

241.5

242

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

224.4−

224.2−

224−

223.8−

223.6−

223.4−

223.2−

223−

222.8−

222.6−

222.4−

222.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

22−

21.5−

21−

20.5−

20−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

256.6

256.8

257

257.2

257.4

257.6

257.8

258

258.2

258.4

258.6

258.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

289.6

289.8

290

290.2

290.4

290.6

290.8

291

291.2

291.4

291.6

291.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

123−

122.5−

122−

121.5−

121−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

37.5−

37−

36.5−

36−

35.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

267

267.2

267.4

267.6

267.8

268

268.2

268.4

268.6

268.8

269

269.2

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

150−

149.5−

149−

148.5−

148−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

29.8−

29.6−

29.4−

29.2−

29−

28.8−

28.6−

28.4−

28.2−

28−

27.8−

27.6−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8126}



10423 10423.5 10424 10424.5 10425
cyclenum

235.8−

235.6−

235.4−

235.2−

235−

234.8−

234.6−

234.4−

234.2−

234−

233.8−

233.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

89.5−

89−

88.5−

88−

87.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

5.4

5.6

5.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

525−

524.5−

524−

523.5−

523−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8126}

10423 10423.5 10424 10424.5 10425
cyclenum

8124

8124.5

8125

8125.5

8126
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8127

8127.5

8128

ru
n

run:cyclenum {run == 8126}
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